Science 10
Name:

Predator and Prey Simulation

Oh Deer!   How does a population of predators affect a population of prey? 

Materials: 
· 250 “Deer” cards per group.

· 50 “Gray Wolf” cards per group.

· Groups of 3 or 4; each with a defined “forest” – sheet of legal sized paper. 
Directions: 
1. Your table will act as the boundaries to your habitat (in this case a forest habitat).

2.  Distribute 3 deer in the forest by tossing 3 deer cards on your “forest”. 

3. Toss one gray wolf card in an effort to catch a deer. (At this point in the activity there is no way that the gray wolf can catch the 3 deer that it needs to survive and reproduce. The gray wolf is not allowed to skid across the table and the deer should be distributed in the forest.) 

4. Complete the data table for generation #1. The gray wolf will starve and there will be no surviving gray wolf or new baby wolves. 

5. At the beginning of generation #2, double the deer left at the end of generation #1 by tossing new deer cards into the habitat. A new gray wolf immigrates into the forest and is interacting with the deer by being tossed on the table to try to capture the dispersed deer. 
6. Record your data.
7. Eventually the deer population increases to a level that allows the wolf to catch 3 deer in a single toss. If the wolf catches 3 deer, it not only survives but it reproduces, too. It has one baby wolf for each 3 deer that it catches. Therefore, if it catches 6 deer, it will have 2 babies. Wolves are not allowed to cheat, but they should try to be efficient. (Inefficient wolves result in an overabundance of deer.) 

8. As the number of wolves increases, throw each wolf card once for each wolf. Record the number of deer caught by the wolf predators. The simulation is more realistic if the number of new baby wolves is based on each wolf’s catch rather than merely the total number of deer caught in a generation. 

9. There are always at least 3 deer at the beginning of a generation. If and when the entire deer population is wiped out, then new deer immigrate into the forest. 

10. Remember that the number of deer in the forest needs to be correct at all times. Remove the deer caught and add new ones as indicated by the data table. 

11. Model and collect data for 20 generations 

Data Analysis:
1. Graph the number of wolves and the number of deer for the 20 generations to illustrate the relationship between predators and prey.  

2. Colour code your graph to show the differences between predator and prey. 
3. Add a dotted line to your graph to predict 5 more generations. Base your prediction on the trend you see in the data. 

Data Table:
	Generation
	Number of wolves
	Number of deer remaining
	Number of deer offspring
	Total number of deer
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